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1.

0404

ISl JAART B A IGedN
o T % |

(A) A7 FHRE

(B) I AT

(C) +fa aman

(D) TIHT IRYg

(B) VETHA
(C) faa ==

(D) R R §F & TaR

frfoRad § & dI9-91 961 0T &1 1@
Rrgrer el & ?
(A) T
(B) ¥dddl
(C) Tbud

(D) SWad # | BIS T

(3)

Planning Commission has been renamed

as .. .

(A) Neeti Commission

(B) Yojana Aayog

(C) NITI Aayog

(D) Planning Council

Finance Commission is constituted by

................. of India.

(A) President

(B) Prime Minister

(C) Finance Minister

(D) Governor of RBI

Which of the following is not a principle

of Federal Finance ?

(A) Adequacy

(B) Independence

(C) Uniformity

(D) None of the above

Set-C
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FOT e B § THT Bl W ATl I

(B) =W
(C) =M (A) 3R (B)
(D) STda # & Big T

TRIET BR BT A H A1 R

(A) TR &R
(B) WSl &R
(C) SdET aX

(D) Td! &R

ST ARh AWHR Bl Af<H w7 § I 37eT

HRAT T, 99 W BT € -

(A) @RI

(B) @RTET

(C) Tx-faaaH

(D) SUYa H A Bl 7Tl

(4)

The amount to be deposited in debt

redemtion fund should be obtained from

(C) Both (A) and (B)

(D) None of the above

The Tax which comes under Indirect Tax
is:

(A) Property Tax

(B) Estate Tax

(C) Excise Tax

(D) Sales Tax

The person who ultimately pays

the tax to the Government on him, there
IS :

(A) Incidence of Tax

(B) Impact of Tax

(C) Shifting of Tax

(D) None of the above

Set-C



0404

FR-fdac fobam ST | @ :

(A) 9B BT AR

(B) 3 @l 3R

(C) SWE T Rl 4

(D) SUE F F PIE Tl

“Gacl Y W & F AT T AR |”
I8 faar fear T

(A) XU $ AT g 4
(B) TR & YRV Rigrd H

(C) UM & A0 Rigrd A

(D) SWYad # | BIg T2

“ife gt H HaW SFl P Yol
TR B e dd yME Wed 3R §l
@l AT dg g e A o9 Al q8
HH-I-FH B |” IE B §

(A) STeed

(B) HWdl faast @

(C) Wl aR @I

(D) SUYa H A Bl 7l

(5)

Tax shifting can be done :

(A) Backward

(B) Forward

(C) Both of the above

(D) None of the above

“Tax should be levied only on land.” This

view is given in :

(A) Modern Theory of Tax incidence

(B) Diffusion Theory of Tax incidence

(C) Concentration Theory of Tax

Incidence

(D) None of the above

“The best system of taxation from the
economic point of view is that which has
the best or the least bad economic

effects.” This statement is of :

(A) Dalton
(B) Mrs. Hicks
(C) Prof. Lerner

(D) None of the above

Set-C



10.

11.

12.

0404

I B AN GelEER B W HRRII
ST ¥

(A) Ifg T E

(B) HH o od B

(C) IS U9Ig el STeld &
(D) SWE ¥ | TS el

3T B fIaRoT P SAMTT FH B @

(A) 3Tl HR
(B) UfITHI &

ST PR
Swad # ¥ Plg T

(©)

(D)

<
@

¥ s @ Rufd § Wer

(A) ST H 9T o AR

(B) ST @I 0T 9199 AT AlfRy

T F o MR
Swad # ¥ Plg T

(©)

(D)

(6)

10.

11.

12.

In case of inelasticity of demand due to

taxation, production will :

(A) Increase

(B) Decrease

Remain same

(©)

(D) None of the above

Inequality in distribution of Income is
reduced by :

(A) Proportional Tax

(B)

Regressive Tax

(©)

Degressive Tax

None of the above

(D)

In case of deflation the government

should :

(A) Take loan from Public

(B) Make payment of Loan to the
Public

Issue new debt

(©)

None of the above

(D)

Set-C



13.

14.

15.

0404

o #oil &1 y@e Aifed WR T e,
S BEd ©

(A) RHITT F0T

(B) 3MIR® 0T

(C) dr& &

(D) SWH & W B L
fefofed 4 @ $F-91 R ds @
M WHRI & wg fqqRka e
T & ?

(A) ER

(B) T Yeb

(©) T (A) 3R (B)

(D) Sl e

JEPIel fae] @ave & oy
(A) TR TN W 8
(B) = foy 9 §
(C) =M (A) 3R (B)
(D) SUYa H A Bl 7l

(7)

13.

14.

15.

The debts which have no direct money

burden are called :

(A) Individual debt
(B) Internal debt
(C) External debt

(D) None of the above

Which of the following taxes is

distributed between Central Government

and State Governments ?

(A) Income Tax
(B) Stamp duty
(C) Both (A)and (B)

(D) Excise duty

For war financing :

(A) Taxes are imposed

(B) Loans are taken

(C) Both (A)and (B)

(D) None of the above

Set-C



16.

17.

18.

0404

4 dler T g
(A) 6
B) 5
©) 4

(D) 3

frefoRed 5 9 aF-91 &= I Rigra
@1 ARG It BT § 2

(A) SN

(B) IR IR

(C) ¥HARSH ®x

(D) SWa ¥ ¥ IS T

9GOl & |

(A) T PR DT ARG
(B) M B DI I
(©) T (A) 3R (B)
(D) SUYa H A Bl 7l

(8)

16.

17.

18.

Item of expenditure of State Government

has been divided into ............

(A) 6

(B) 5

(€ 4

(D) 3

Which of the following taxes maximum

statisfies the theory of the Justice ?

(A) Income Tax

(B) Production Tax
(C) Entertainment Tax
(D) None of the above

Generally the taxation has adverse effect

on ..., .

(A) Ability to save

(B) Ability to work

(C) Both (A) and (B)

None of the above

(D)

Set-C
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20.

21.
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I & fIaRYT BT IHEAT Bl T

EaGId

(A)  IRETH TR

(B) SFENTH &x

(ORECIFRINCAC

(D) SWH & W B &

fFfeiRad & | I FREM AT BT T
e d@ & ?

(A) o9 &I faaRor

(B) SIHEIT & 3hR

B YUTTell BT HY U4 Gepld
SERESEGE]

(©)

(D)

FIT A B

9Tl qrafdd  He]

Pl

(A) B9 B &

(B) O &
yifad T8 BN ©

Swad # ¥ Plg T

(©)

(D)

(9)

19.

20.

21.

Inequality in distribution of Income is
reduced by ................ :

(A) Regressive Tax

(B) Degressive Tax

(C) Proportional Tax

(D) None of the above

Which of the following is a determinant
of taxable capacity ?

(A) Distribution of wealth

(B) Size of population

©)

Form and nature of tax system

(D) All of the above

External debt the real welfare

of the country.

(A) Decreases
(B) Increases
Does not affect

(©)

(D) None of the above

Set-C



22, AW® O B A DR & forw 22. The special tax imposed on assets of

fnal & IRy W® o 9ol f9Y ax people to redeem public debt is called :
(A) FHRT IR (A) Estate duty

(B) UYL dX (B) Indirect tax

(€) Uall & (C) Capital levy

(D) SUYa H H Bl el (D) None of the above

23. fo=faRad § 9 oH-91 i faerng @l 23.  Which of the following is not an indirect

gardr ae[ BT T 3T YN :%3[ % ) measure to promote economic

development ?

(A) Hd ifd (A) Price Policy
(B) oM (B) Fiscal Policy
(C) dife® ifa (C) Monetary Policy
(D) SUYa H H IS el (D) None of the above
24, ffofed & ¥ dH-91 e W 24. Which of the following taxes are related
R ¥ TR 2 7 to tax impact on tax payers ?
(A) R &= (A) Export Duty
(B) 3mATd X (B) Import Duty
(C) IMIMX (C) Income Tax
(D) SUYa H § I el (D) None of the above
25.  JH fO<T AN & e HiF o 7 25. Who was the chairman of first Finance
Commission ?
(A) =0, @ R (A) Shri K. C. Niyogi
B) A W @, frarh (B) Shri C. K. Niyogi
(©) T o e (C) Shri A. K. Niyogi
(D) A 4. ®. A (D) Shri S. K. Niyogi

0404 (10) Set-C



26.

217.

28.

29.

0404

THd o omam # amex W Al 7] 26

o7 |

(A) 775

(B) 97.5

(C) 875

(D) 67.5

a?ga, ﬁﬂ- m_rl_ aﬁ_ W ...................... 27.
afy @ for off |

(A) 2007-12

(B) 2006-11

(C) 2005-10

(D) 2010-15

Slecd @ YW ‘Uit Blg” 9§ 28,
....................... .ﬁ[ Wﬁ[ﬂ- g_sil

(A) 1912

(B) 1922

(C) 1932

(D) 1942

“PR T BT eI 8" @ gR1 29,
ERRIEIRI

(A) Sreed

(B) H{IT

(C) mrd &

(D) fea

(11)

Tenth Finance Commission suggested

percent state share in Income

(A)
(B)
(©)
(D)

77.5
97.5
87.5
67.5

The

Commission were for the period of

recomendations of 13th Finance

2007-12
2006-11
2005-10
2010-15

Dalton’s book “Public Finance” was

published in the year ............ :

1912
1922
1932
1942

(A)
(B)
(©)
(D)

“Tax is price of civilization” has been

said by ..o :

(A) Dalton
(B)
(®

(D)

Musgrave
Justice Homes

Hicks

Set-C



30.

31.

32.

33.

0404

fFrfaRad ¥ ¥ e-91 @) g @1 @
Rrgr i 2 ?

(A) WRERAE Rigr

(B) Mg Rigrd

(©) ¥ger Rrara

(D) TR fagr

afe e SRt ghg e W amRa
3 @ el & g |

(A) e

(B) =T

() Rer &
(D) 3mfad 3

I AT BH AEER €, a1 X b JIRH
SR |

(A) Pl

(B) fasar

(C) T (A) 3R (B)

(D) SWad # | BIg T2

afe ST g9 fE & ria Sere
AT o T R, B BT AR -
TS|

(A) SARH

(B) el

©) T (A) IR (B)

(D) SWa H ¥ B T

(12)

30.

31.

32.

33.

Which of the following is not the theory
of Shifting of Tax ?

(A) Classic Theory
(B) Modern Theory
(C) Balanced Theory

(D) Diffusion Theory

If production is based on law of

increasing  return, the price of

commodities will ............... :
(A) Increase

(B) Decrease

(C) Remain stable

(D) Remain unaffected

If demand is less elastic, the major part of
tax will be paid by .................... :

(A) Purchaser

(B) Seller

(C) Both (A) and (B)
(D) None of the above

If production is being done under the law
of diminising return, the burden of
taxation will be on ................. :

(A) Manufacturer

(B) Direct

(C) Both (A)and (B)
(D) None of the above

Set-C



34, =faRed § ¥ -9 HEH &gHd] B 34. Which of the following is a basis of

qO BT AR S 7 measurement of taxable capacity ?

(A) o 3 faf (A) Aggregate Income method
(B) cUTe fafer (B) Production method
(C) @I (A) R (B) (C) Both (A) and (B)
(D) faa=ur fafey (D) Distribution method
35. NI 8T 41T | 35. Incidence of Taxation should be ........... .
(A) difed (A) Monetary
(B) W (B) Direct
(C) @I (A) R (B) (C) Both (A) and (B)
(D)  3THIcE (D) Indirect

36. WM fog WM Affd &1 e 9y 36. Local Finance Enquiry Committee was

.......................... 3 BT o | constituted in the year ............... .
(A) 1947 (A) 1947

(B) 1949 (B) 1949

(C) 1948 (C) 1948

(D) 1950 (D) 1950

37. Wl w4 < eued Xfew 7 37. GST compliance rating comes under

g A Y e

(A) ©IRT 151 (A) Section 151

(B) ©IRT 139 (B) Section 139

(C) H©RT 149 (C) Section 149

(D) ©RT 150 (D) Section 150

0404 (13) Set-C



38 wrd ¥ anffe e g e o
TIR¥ g3l T |

(A) 1934
(B) 1935
(C) 1936
(D) 1937

39 aé_grq?'ﬂ?ﬁmﬁ ........................ E‘ﬁ%l

40. g W gfefEE o ad

(B) wferrA
(C) 3T
()REIBRIRE?

42, Frfafad § @ I9-d1 ycde o] 7S 8 ?

(A) 3R
(B) &I W
(C) fTFH &%
(D) SWa ¥ ¥ IS T

0404 (14)

38.

39.

40.

41.

42.

Economic planning in India was

commenced in the year ................ :

(A) 1934
(B) 1935
(C) 1936
(D) 1937

Increased Public expenditure increases

(A) Purchasing Power of Public
(B) Tax Rates
(C) Monetary Income of Public

(D) Expenditures of Public

Provincial Autonomy Act was passed in
the year ................. :

(A) 1934
(B) 1935
(C) 1936
(D) 1937

Indirect Taxes are ............... .
(A) Progressive

(B) Regressive

(C) Degressive

(D) Proportional

Which of the following is not a Direct
Tax ?

(A) Income Tax

(B) Expenditure Tax
(C) Corporate Tax
(D) None of the above

Set-C



43.

44,

45,

46.

0404

71 @ Rafd & W1 =T 7 Y ol @

A o ?

(A) Hgferd aore

(B) HIC F Tl

(C) 3N doic

(D) SWE # W B &l
RISTEd BT 31 BT @
(A) el fad

(B) Sraui+ad fad

(C) SRIFTa fad

(D) STda # & Big 7L

‘qe’ ST ST B

(A) JATIRS IUET Tg AT W
(B) i & fald ®

(C) fach fafma w

(D) I & T W

TIREd foT SIRINT &1 T b T o

(A) 1 T, 1995 Bl

(B) 3 T[cls, 1998 Bl
(C) 15 SIHaRI, 2000 T

(D) 5 37T, 1999 B

43.

44,

45.

46.

In case of depression Prof.

Keynes

supported :

(A)
(B)
(©)
(D)

Balanced Budget
Deficit Budget
Surplus Budget

None of the above

Public Revenue is meant by :

(A)
(B)
(©)
(D)

Private Finance

Public Finance

Institutional Finance

None of the above

‘VAT’ is applied on the :

(A)
(B)
(©)
(D)

Eleventh

Internal production and volume
Export of goods
Foreign exchange

Import of goods

Finance Commission was

constituted on :

(A)
(B)
(©)
(D)

1st Jan., 1995
3rd July, 1998
15th Jan., 2000

5th August, 1999

Set-C



47.

48.

49,

50.

0404

IR § fo cggeen GG 47.

SR

(A) RN fag agaven
(B) Udhd fox yawer

(C) WY fad cyaRer

(D) TMI o wawen

fy=forRad & 9 ®F-W1 31T & eIy @ 48.

U% WM & 7

(A) dCaRT AT
(B) fador sman
(C) ReRIHRuT 3Iman
(D) SHIF W

QI & TR O R 49,

(A) T& fagm

(B) T® el

(C) =M (A) 3R (B)
(D) SWa ¥ ¥ I3 T

Afe &1 i 91 afided IR & 50.

U BT {7 AR & 789 @1 IMHR
JSH HRT 8 7

(A) 3nfcama 264

(B) anféwar 293

(C) anfdama 280

(D) ¥ 9 3K T

(16)

Financial System in India comes under

(A)
(B)
(©)
(D)

Inter-State Financial System
Unitary Financial System
Federal Financial System

Rural Financial System

Which of the following is a branch of

studying Public Revenue ?

(A)
(B)
(®)
(D)

Allocation Branch
Distribution Branch
Stabilisation Branch

All of the above

According to Plehan Public Finance is

(D)

A Science
An Art
Both (A) and (B)

None of the above

Which Article provides the power to the

President of India to appoint Finance

Commission of constitution ?

(A)
(B)
(©)
(D)

Article 264
Article 293
Article 280

None of these

Set-C



51.

52.

53.

54,

0404

fforiad & BI9-91 o FER IR & ?
(A) g &R

(B) & AT W N

(C) Lo

(D) SWF &l

AR Pl AT R b5 WHR R TR
W dTel &R B Bad @ :

(A) TRHITT SMIPR
(B) &N &R
(C) WMNI &R
(D) T &R

AG Y TA AD I D IR B Hed
B

(A) T HTeT

(B) oG el

(C) duic el

(D) WM& ©Ter

faforRag & 9 -1 Yo" BT 98
g ?

(A) SdRHd H Jg

(B) Ul ISR @1 e
(C) SIS Hearo
(D) ST T

(17)

51.

52.

53.

54.

Which of the following is a Union Tax ?

(A) Corporate Tax
(B) Taxes on Agriculture Income
(C) Land Revenue

(D) All of the above

The tax levied by the Central

Government on earning of individuals is

called :

(A) Personal Income Tax
(B) Interest Tax
(C) General Tax

(D) Corporate Tax

Difference between Public expenditure
and Public receipts is :

(A) Revenue Deficit

(B) Fiscal Deficit

(C) Budget Deficit

(D) Primary Deficit

Which of the following is an importance
of Public Finance ?

(A) Increase productivity

(B) Certainty of full employment

(C) Social welfare

(D) All of the above

Set-C



55.  XTod Dl aﬁﬂ'@q fopam o1 € ? 55. Which are the two main activities of
Public Finance ?

(A) TR 7T FHIT (A) Tax and Debt
(B) ™ g B (B) Profitand Loss
(C) 39 Td Y (C) Income and Expenditure
(D) fa<elt T U4 ST YA (D) Foreign debt and its uses

56. s @ ®Y # ol fad € U ¢ 56. As ascience Public Finance is an :
(A) BIUES fagmd (A) Imaginary science
(B) dHIAMT fdsmd (B) Unimaginary science
© arest fasm (C) Ideal science
(D) 3y fag (D) Antyodaya science

57. SGfamfid Ul ¥ YORd & W@ Sewd 57 The main  aim  of revenue in
T e underdeveloped countries is :
(A) TSl THToT BT Fieanfdd oA (A) To promote capital formation
(B) NI 3 H glg Fl (B) To increase National Income
(C) H&T Wi I b (C) To check inflation
(D) Sugad FI (D) All of the above

58. ‘YToT dI HArH YUell 98 & S 370+ 58. “The best system of Public Finance is that

@Al ERT ARhdq FHINTG o9 & g which receives the maximum social
R AFN 2| TE B T advantage.” This statement is given by :

(A) g @ (A) Pigou

(B) ‘SlecH &l (B) Dalton

(C) ¥IUd @I (C) Musgrave

(D) SUYa H A Bl 7l (D) None of the above

0404 (18) Set-C



59. foll o¥gell & IWT & Ty A

SIS -

(A) TR & §

(B) widgfed edl &
(C) widgfe T vedl &
(D) W A W 3T T

60. dvic IR fHaT ST 2 -
(A) THT AHR T
(B) WHdl MR T
(C) =M (A) 3R (B)
(D) SHw F § B¢ T

61. JUIo TIGFT oo
feparefiet e ¢ |
(A) SEETe TR
(B) Toell a¥gall
(©) T (A) 3R (B)
(D) SWad # | BIg T

62. olimfod @T ﬁj§E§ Rygrg ~ & gRI

yfaurfea foam 7ar o |
(A) aTR

(B) oI

(C) R

(D) Afermie

0404

59.

60.

61.

62.

In  consumption of private
consumers are :

(A) Neutral

(B) Competitive

(C) Non-competitive

(D) None of the above

Budget is prepared on :
(A) Cash basis

(B) Gross Amount basis
(C) Both (A) and (B)

(D) None of the above

goods

Exclusion principle becomes operative

regarding :

(A) Public goods
(B) Private goods
(C) Both (A)and (B)

(D) None of the above

Pure Theory of Public Finance was

profound by ............ :

(A) Wagner
(B) Bestable
(C) Lerner

(D) Saligman

Set-C



63.

64.

65.

66.

0404

T ARG goic &1 Mg [daiad
febam T o

(A) Ui} T R R

(B) UIeR TR ENI

(C) @I gNI

(D) S & & T T

gfafted faaReRT rRivma a9l o

(A) Fferd aorc &
(B) H©C & Tulc &
(C) 3R doic &
(D) STda # & Big AL

QDI TR &

(A) IeFI 95 |
(B) AN W

(C) 3RRA ¥

(D) SWad # | BIg T2

Sl Sleed @ AR WIS HedTo o

1R |

(A) T

(B) widw

(C) HI (A) 3R (B)
(D) SWad # | BIS T

(20)

63.

64.

65.

66.

The principle of Zero Based Budgeting
was developed by :

(A) Peter A. Phyer

(B) Peter Drucker

(C) Keynes

(D) None of the above

The classical concept economists were in

favour of :

(A) Balanced Budget
(B) Deficit Budget
(C) Surplus Budget

(D) All of the above

Public Finance is concerned with :

(A) Political Science

(B) Sociology

(C) Economics

(D) All of the above

According to Dr. Dalton while assessing

social welfare .............. should be taken

into consideration.

(A) Present
(B) Future
(C) Both (A)and (B)

(D) None of the above

Set-C



67.

68.

69.

0404

R H TG YA AId W Bl
ARy |

(A) IFH

(B) WM

(€) g

(D) SWE ¥ | TS el

FfoiRad # & SIF-91 Joic & Ud &0l
g7

(A) TG MR

(B) gferd aere

(C) dHQI BT AR

(D) Suda Wl

T ERI IR

quic Gl IAJHIA

e ST 2|
NRESREIGE
(B) faw w=I

(C) 9RAT Red §%
(D) R R4 §F & TaR

(21)

67.

68.

69.

Incidence of taxation on every source

should be .............. .

(A) Unequal

(B) Equal

(C) Invisible

(D) None of the above

Which of the following is a characteristic

of Budget ?

(A) Annual Basis

(B) Balanced Budget

(C) Basis of Cash

(D) All of the above

Budget estimation are prepare

0) V2R :

(A) Finance Ministry

(B) Finance Minister

(C) Reserve Bank of India

(D) Governor of Reserve Bank of India

Set-C



70.

71.

72.

0404

golc B Uadhod Offd w1 Ted 9y
= ¥ forgr T o |

(A) 1949
(B) 1950
(C) 1953

(D) 1956
frforRad & & oF-a7 g9 Ua @l

UH IeT B 7

(A) T R F- & G

(8) 3P g

(C) T=IdTe Bl FRafd o=

(D) Suda Wl

U ddGte @9 & gRI aqfe @
SIS

(A) T a9 o raIHARl Bl

(B) WfITA aMagadain af

(C) WMRR® Saeaddml ol

(D) SUYa H A Bl 7l

(22)

70.

71.

72.

Estimate Committee on budget was

constructed in the year .................. :

(A) 1949
(B) 1950
(C) 1953

(D) 1956

Which of the following is an objective of

deficit financing ?

(A) Maintaining price level

(B) Economic growth

(C) Controlling depression

(D) All of the above

Generally Public Expenditure satisfy the

requirements of :

(A) Particular group

(B) Individual

(C) Collective group

(D) None of the above

Set-C



73.

74.

75.

0404

fode ®el & & ‘@G & H gig
RO H Bl 87 7

(A) TR
(B) Uipie qrgoH
(C) difeH Far®
(D) @I
e ST 2|

(A) o w9 8k ove

(B) i w1

(C) I

(D) WKt R
S

(A) e

(B) fawor

(C) UM

(D) SHIE W

(23)

73.

74.

75.

Who has said that “Growth of public
sector tends to occur on a step like
basis” ?

(A) Wagner

(B) Peacock Wiseman

(C) Colin Clark

(D) Keynes

Financial control in India is done

DY o :

(A) Legislative Assembly and

Parliament

(B) Lok Sabha

(C) Rajya Sabha

(D) Reserve Bank of India

Public Expenditure has the effect

(0] | .

(A) Production

(B) Distribution

(C) Consumption

(D) All of the above

Set-C



76.

77,

78.

0404

AIad H QO ISR W &™A & fow 76.

fohy T @ Bl bEd T

(A) fafmmr

(B) nRie wRrIa

(©) &g 2

(D) STda # & Big AL

PR 3R g9d PR Pl 3WI W GrAGid 77,

Y BT YT I

(A) 3% BT &
(B) WIE(dh FI DI UG AT TWHR
P Hifg W R B

(C) uRae & ©
(D) ST # 7 B Tl

fRreT, URIETv], SM-WRey e W fby W 78

(A) Yol Fior

(B) g Yol o

(C) el Hfer

(D) ST # | BIg ALl

(24)

Under depression, the expenditure

incurred to achieve full employment is

called :

(A)
(B)
(©)
(D)

Investment
Subsidies
Compensatory Expenditure

None of the above

The effect of Public Expenditure upon the

desire to work and do saving is always :

(A)
(B)

(©)
(D)

Favourable

Depend on nature of Public
Expenditure and  Government
Policy

Unfavorable

None of the above

The expenditure on education, training

and public health etc. is called ............. .

(A)

(B)

(©)

(D)

Capital formation

Human capital formation

Technical development

None of the above

Set-C



79.

80.

81.

0404

B Selaadl & Rand bl Ui
(A) T R

(B) ¥

(€) Fw

(D) S A Dl T

T W -9 Th PR F YD
Rigrr &l 8 ?

(A) IUEHA B g
B) fafdear &1 Rigra

() uRacTferar &1 Rigr
(D) SWa ¥ ¥ IS T

M & FTAR WaSl-dh & BT IR0l
feber foparm & ?

(A) BIET d ied

(B) eleeH

(C) . . gl

(D) e

(25)

79.

80.

81.

The canon of productivity of taxation was

propounded by :

(A) Adam Smith

(B) Keynes

(C) Bastable

(D) None of the above

Which of the following is not a modern

canon of taxation ?

(A) Canon of productivity

(B) Canon of diversity

(C) Canon of flexibility

(D) None of the above

Who has classified the public expenditure

on the basis of benefits ?

(A) Cohn and Plehme

(B) Dalton

(C) J. K. Mehta

(D) Mill

Set-C



82.

83.

84.

0404

RPN oG BT HIA-91 /T Fd 2 /8 ?
(A) TRINING 3mg

(B) @

(C) ARG 3y

(D) Suda Wl

WHR & IR-IR MM # Wi g
g

(A) TUER

(B) WRGRI THRT ¥ M

(C) RGN IE | U 3

(D) SHIE W

X, S, CllbH Mfe |arell & gl ¥

foram e ©

(A) T
(B) A

(C)

(D) fa9Iy r-feyeriom

(26)

82.

83.

84.

Source(s) of Public Revenue is/are :

(A) Administrative income

(B) Tax

(C) Commercial income

(D) All of the above

The non-tax revenue of government

include :

(A) Gift

(B) Income from government property

(C) Income from Public Enterprises

(D) All of the above

In return of service of rail, post, telephone

etc. government charges :

(A) Price

(B) Fines

(C) Tax

(D) Special Assessment

Set-C



85. Ul AferEE o ol My B g 85.  Prof. Saligman has classified public

3 e e 2 income in ............. parts.
A) @ (A) Two
(B) dm (B) Three
(C) IR (C) Four
(D) UM (D) Five
86, AR~ 7 aefe) o | 86. Wagner  was  the  economist
oL
(A) WY (A) France
(B) SR (B) Germany
(C) sifRga (C) Austria
(D) geall (D) ltaly

87. TeH RW 9 30l YW@ “de e 87. Adam Smith wrote his book “Wealth of

SN ¥ fordl o | Nations” in the year:
(A) 1876 (A) 1876
(B) 1771 (B) 1771
(C) 1776 (C) 1776
(D) 1676 (D) 1676

0404 (27) Set-C



88.

89.

90.

0404

fr=faad § 9 d9-91 &R @& 16 R 88.

T g ?

EIRRITNE
RN HR
EUIRNICEGR

(A)
(B)
(©)

(D) THHD PR

f=fofag & 9 o9-97 % WoOR & 89.

IR-IX AT & Y A 9 A- BT A
g ?

(A) TF-gaT e

(B) oI

() few® T Fa FO

(D) Suga Wl

CIRGIUAI RIS R BB e
Ue qfte faxitd faaxor & w9y § aRwiivd

B B |

(A) 215
(B)
(©)

(D)

115

255

155

(28)

qoic &l 90.

Which of the following is not a type of

tax ?

(A) Regressive Tax

(B)

Degressive Tax

(©)

Progressive Tax

(D)

Aggressive Tax

Which of following is other source of

non-tax revenue of Central

Government ?

(A) Issue of Paper Currency

(B)

Railway

(©)

Voluntary and compulsory debt

(D) All of the above

Article of Indian Constitution

defines budget as an annual financial

statement.

(A) 215
(B)
(€)

(D)

115

255

155

Set-C



91.

92.

93.

0404

R TR R ¥ 1 ST 1 o

(A) 1971
(B) 1961
(C) 1981

(D) 1991

IRA PR WA H Gl

T 2 |

(A) T TR

(B) 3MWTE IR

(©) T (A) 3R (B)

(D) SWa ¥ ¥ IS T

Ffoiad 5 | SIF-A1 W el

B 3T BT U YT i e} & 7

(A) gt ax
(B) <M @R
(C) HRI WX

(D) IR @

(29)

91.

92.

93.

Jha Commission on Economic

Administrative Reforms was formed in

(A) 1971
(B) 1961
(C) 1981

(D) 1991

In Indian Tax Structure there is

predominance of ............... :

(A) Direct Tax

(B) Indirect Tax

(C) Both (A) and (B)

(D) None of the above

Which of the following is not an

indirect source of revenue of local

bodies ?

(A) Octroi Tax

(B) Terminal Tax

(C) Property Tax

(D) Improvement Tax

Set-C



94. WRd H S W dIH hl Sy 94. The objective of imposing Import duty in

3. Indiais:
(A) 31T YT HAT (A) Toearnincome
(B) X[ SN DI GREUT YT H] (B) To protect domestic industries
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SWE ¥ | FIg el (D) None of the above
95. YR WHR 7 T HR g o F SIN 95. Service Tax was implemented by
o o | Government of India in the year ............ .
(A) 1991 (A) 1991
(B) 1994 (B) 1994
(C) 1996 (C) 1996
(D) 1998 (D) 1998
96. WRT H Yol M ox Fdyed qf - § 96, Capital gain tax was firstly implemented
SRIRIT TR | in India in the year .............. .
(A) 1946 (A) 1946
(B) 1947 (B) 1947
(C) 1950 (C) 1950
(D) 1962 (D) 1962
97. IRy RFadm e & SFER 97. According to canon of certainty of
e e ARy taxation there should be certainty of :
(A) TAE BT T (A) Time of Payment
(B) X DI M (B) Amount of Tax
(C) YdM @l fafx (C) Process of Payment
(D) Sugad FI (D) All of the above

0404 (30) Set-C



98.

99.

100.

0404

9 bl B Bl HRIETT qAT BRI Udp

gl @fth W Uedl &, O I e ¢ :

(A) 3YIE IR
(B) Y& IR
(C) 3N &R
(D) Wil ax

B D W D FPER TS AUINTD
PR-TTTell R B ?
(A) TR DI R FIE B

(B) UG HI FAM IR IR JHMI US

(C) TR DI X H Bl &I
(D) WH R A GG &

fafire &% 7 8 ?

(A) JBR & AR AT TN G

(B) ¥ & AR IR TN o
(C) & ARh R AT AT IR

(D) SWad # | BIS T

(31)

98.

99.

100.

When the impact and incidence of tax

takes place on the same person, it is

called :

(A)

(B)

(©)

(D)

Indirect Tax

Direct Tax

Degressive Tax

Progressive Tax

According to rate of taxes, what is a

proportional tax system ?

(A)

(B)

(©)

(D)

Rate of tax remains same

Everyone has to pay equal amount
of tax

Rate of tax decreases

Rate of tax increases

What is specific tax ?

(A)

(B)

(©)

(D)

Tax levied according to size

Tax levied according to value

Tax levied on an individual

None of the above

Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TAG T B 3F FHE 2| AP R SR
e B, I B SITER 3P YeM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 f 9 8| Sw-uFe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
B N fore 9 @@ I [ T W0 orgedl @l
Aagdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE &XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-eT ¥ ANT-geb, Defdeicy, UoR a2l HegerR

B o ST 9T SHBT SN AT Iroid 2 |

7 & Rl U9 Ul wUrRer § f=Tar 89 @l
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